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1. Answer all the 14 qucstlohs. Choose the most sUitable answer from the given four

alternatives. j ' 14x1=14
1. 1fn(A x By= 6 and A = (1,3} then n(B) is  8) ! b) 2 ©)s3 d)6

2. If A and B arc any two non — empty scts and R i8 @ relation from A to B, then the domain
of Ris a)A b) 13 (cya subset of A d) a subset of B
3. LetA={1,2,3.4}and B= {4,8,9,10}. A function f:A - B given by
F={(1,4), (28),(3.9), (4,10)}is d oy > e 1
e @) Many=ofic function " - b)I mon (¢) One
4. 1fthe HCF of 65 and 117 is cxpressnble in the term of 65m — 117, then the value of m is
a) 4 (5)2 o)1 d)3
5. In how many ways 64 can be written as the product of three numbers such that the
numbers are in G.P? a)0 b) 1 ©)3 d) infinite
6. The value of (13 + 2% +33+...+15%) = (1 + 2 4+ 3+... +15) is
2) 14400  b) 14200  (c)14280  d) 14520

> — 1o — onc function d) Into function

3y=3 L =t 9y 9y3 21y2-42y+21 ‘ 7(y2-2y+1)
[ Y 3y’ i @7 b) (21y-21) ©) 3yd d) y?
8. Which of the following should be added to make x* — 14x, a perfect square. -
a)7 By 49 ¢)- 49 d) 196 g, o
9. Graph of a linear equation is a@ Stralght line ., b) Circle  c¢) Parabola _d) hyperbola_
10 W ALMN, ZI=60°, 2V = 50° TPALMN ~BPQR than thovaloe of 2R~
a) 40° (by70° ¢) 30% d)110°

11. In a BABC, AD is the bisector of ZBAC. If AB = 8¢cm, BD = 6cm, and DC = 3cm. The
lengthof thc side ACis a)6em @) 4 cm ¢)3cm d)8cm

12. The slopc of the line joining (12, 3), (4, a) i 1s- The value of ‘a’ is a) 1 b) 4 ¢)-5 @2

13. Two straight lincs a; X+ b; y+¢; = 0and a;x+ by + cz = 0, where the coefficients
are non — zero, are perpendicular iff

—_ ' 3 2 -2
14. If sin 8 = cos 6, then 2tan?6 + sin?0 — 1 is ¢qual to  a) = T ®3 02 a2
PART - 11 [MARKS 20]
11. Answer any ten questions, Question No, 28 is compulsory, 10x2=20

15.1€ A(2,~2,3Y and B = (1, ~4) then find AX B, A X A
16. Represent the function f = {(1,2), (2,2), (3,2), (4:8)7(5,4)} through
‘(1) an arrow diagram (ii) a tablc form
17. The function g'is defined by g(x) = £2 Calculate the value of gg( )
18. Compute x, such that 10* = x (mod 19)
19. Find the sum of 6 + 13 + 20+4...+97

20. Find the first term and common ratio of the G.P, whose 2™ term is V6 ¢ and 6™ termis 9v/6.
21. Find the LCM of 5x — 10 and 5x* — 20
22, Determin the nature of the roots of the quadratic cquation x? —x -1 =0

23. A vertical stick of length 6m casts a shadow 400cm long on the ground and at the same
time a tower casts a shadow 28m long, Using similarity, find the height of the tower.
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. A1 I AABC.T and T are points on the sides AB and A« fespéetively such that
¢ 4! = DE| L. H"-:g"’ Tand AC = 15¢m find AE.
: ) 1

4~ 25, Shaw tar e pdints (—2,5), (6, 1) and (2, 2) arc colfinear e .

26. Find the equation of a straight linc which has slope -—;5 and -pass"mg thmm,vlT lh.ew‘, (-1,2)

. L cosO

27. Prove the identity "0 sec O iq.li‘m 0'{0 ol )
Vx \I . - . '((f

28 simplify: 22 . 9 { D =

PART = HI [MARKS 50

111. Answer any ten questions. Question No. 42 is compulsory. 08=50
20 Lot A = [x € w/x < 2),B= [x € N/b&X §#and (= 0% 5, Vify that 1

A X \BUC):(AXB)IJ(AXC) T
30, 1fthe futiction T: R = T is defined by % . W ey

2x+ 7 x< -2 .
f(ix) =q{x?=2; —2=x<3 ihen find the values of
3Ix—2;, x=23 S
(0 f(4) (if) f(=2) (iii) f(4) + 2f(1) (iv) __f“ir(-_,_;fm

31. 1f f(x) = x?,g(x) = 3x and h(x) = x — 2, Prove that (fog)oh = fo(goh).
3. Prove that 2" + 6 x 9" is always divisible by 7 for any positive integer 1. .
33. Find the sum of the scries (2° — 13) + (4> -3+ (6’ - 53)4..to ()nterms (i) 8 terms

34. The sum of the digits of a three - digit number is 11. If the digits arc reversed, the new)

number is 46 more than five times the former number. If the hundreds digit plus twice

the tens digit is cqual to the units digit, then find the original three digit number? =

- 2x+1 2x-1 1 2B
JS. IfA= ,B=—— — i ———
A 2x-1 B 2x+1 find A-B AZ-B? -

36, bindthe valucs.of a and b momial 4x* — 12 437 2 4+ bhx + ais a perfect square.
37. A bus covers a distanceof 90 km at a uniform speed. Had the'specd been 15 A R —

more it would have taken 30 minutes less for the journcy. Find the original specd of the

bus.

38, State and prove Angle Bisector Theorem. i
39Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are
(-4,-2), (-3,k), (3. —2)and (2, 3)
40. The line joining the points A(0, 5) and
at the point (4,4). Find

(i) the equation of the line A

(iii) the coordinates of the point'd‘f contact of tange
P-1

41, 1f cosec®+ cot 8 = P, then prove that cos 8 = 577
x=1+p+pit.®y=1 +q+q*+..mand|pl <1 lal < 1th

B(4,1) isatangenttoa circle whose centre C is

B (ii) the equation of the lihe through C which is perpendicular to the hne AB.
ent line AB with the circle.

& pa en show that
196+ p2q2+“".-m = x_:%:? 55

PART - IV [MARKs 1) 00 -

n8=16

IV. Answer the following questions.
43, (a) Construct a triangle similar 10 & given triangle PQR W ith its sides equal to ; of the
corresponding sides of the triangle PQR (Scale fagtor ; < 1) (OR)'
(b) Construct a APQR in which QR = 5cm, 2P = 40° and the median PG from P'to QR
is 4.4 cm. Find the length of the altitude from P to QR.
44. (a) A bus is travelling at & uniform speed of SOkm/hr. Draw
hence find (i) the constant of variation, (ii) how far will
he graph (OR)

(iii)the time require to coverd distance of 300 km, from b )
] o . . : =3and (i)xwheny=?o
(b) Wl}{égﬂﬁmyyw glistrigt mueddioneshpsrpod, \x}%ﬁf‘s’gg%xnumber: 7358965593

s

he distance - ume graph and
it travel in 90 minutes.
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